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QUESTION 1

What is the purpose of the tokenize function? 

A. to concatenate two strings 

B. extract fields from a string 

C. to map undefined data to a defined data type 

D. to replace a specific character in a string 

Correct Answer: B 

 

 

QUESTION 2

Which statement is true about how a database connection pool is created when implementing connection pooling? 

A. It is created for a JDBC Connection Resource across multiple engines. 

B. One is created for each JDBC Connection Resource for an engine. 

C. It is created for a domain. 

D. One is created for all JDBC Connection Resources for an engine. 

Correct Answer: B 

 

QUESTION 3

Errors are being thrown, but they are beyond job boundaries for a Service Resource. Which activity should you use to
catch these errors? 

A. Rethrow 

B. Generate Error 

C. OnError 

D. Catch 

Correct Answer: C 

 

 

QUESTION 4
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Which checkbox in the Call Process activity indicates that a new process instance is created and placed in the job pool
for execution? 

A. Execute 

B. Deployment 

C. Spawn 

D. Service 

Correct Answer: C 

 

 

QUESTION 5

Which statement is true about the TIBCO Domain Utility? 

A. It is a command line interface only. 

B. It is installed as part of the TIBCO Hawk Agent installation. 

C. It provides both a GUI and a command line interface. 

D. It is used for scripting deployment. 

Correct Answer: C 
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